Principles:

Hodor 1. People don't travel faster than the speed
of light, their worldlines are "timelike"

Hodor 2. Bran "Wargs" with other organisms by
sending "warg signal” which moves at or

slower than the speed of light.

3. The Weirwood trees allow
communication signals, travelling slower

Hodor than speed of light to travel "backwards"
along their extended worldlines.

4. Bran interacts with Hodor at a time prior
to his birth.
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5. Hodor interacts with Bran after his birth.

B\
\ v

()

=

W
y 3% J '!‘:A
N
S

- !j
Wiviey
3

<X

AR
_ \\\ X\
mﬂ‘_
oo
-
Qd
-]
I
@)
o
@)
-

6. There are closed causal loops.
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